Balancing Acid-Base Reactions

Balance the following acid-base reactions:

Vi.

Vii.

Viil.

Xi.

Xii.

Xiil.

XiV.

XV.

HBr+_ NaOH—>__ NaBr+__ HO
_ HSO,+_  KOH->__ KSO,+__ H.O
_ Hd+_ CalOH),>__  CaCl,+__ HO
Fe(OH),+ _ HSO,>_ Fe(SO),+___ HJO
_ HSO,+_ BOH),>__ B(SO),+___ HO
Pb(OH),+ _ HCI->__ PbCl,+__ HO
_ HSO,+_ NHOH-=>__ (NH))SO,+__ H.O
HCO,+_ COH->__ = GC,CO,+_ HO
HF+_ Mg(OH),=> __ MgF, + H.,O
HNO,+__ AlOH),> __ AINO,),+__ HO
HNO,+_ Zn(OH),>_  Zn(NO,),+___ H,O
H,PO,+_ Ca(OH),> __ (Ca,PO,),+__  HO
HCIO,+ __ AIOH),-> __ AlCIO),+__ HO
HF+_ Ba(OH),>__ BaF,+__ H.O

HCl + Al(OH), > AlCI, + H,0
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Balancing Acid-Base Reactions

Answers

i_ 1 HBr+_1 NaOH—>_1 NaBr+_1 H.O

i 1 HSO,+_1 KOH->_3 KSO,+_2 HJO

i. 1 HCl+__1 CalOH),>_1 CaCL+_2 HO

v 2 Fe(OH),+_3 HSO,>_1 Fe(SO),+_6 HO
v _3 HSO,+_2 BOH),>_1 B(SO),+_6 HO

vi 1 PbOH),+_ 2 HC-=>_1 PbCL+_2 HO
vii 1 HSO,+_ 2 NHOH->_1 (NH)SO,+_ 2 HO

vii, 1 HCO,+_2 COH->_1 GCs,CO,+_2 HO

x 2 HF+ Mg(OH),> 1  MgF,+_ 2 H,0

x 3 HNO,+ 1 AOH),> 1 AINO),+_ 3 HO

i 2 HNO,+_1 Zn(OH),=> _1 Zn(NO,,+_2 H,0
xi. 2 HpPO,+_ 3 Ca(OH),> 1 (Ca,P0O,),+_6 HO
xi. 3  HCO,+ _1 AlOH),> _1 AlCIO,),+_3 H.O0
xiv . 2 HF+ _ 1 Ba(OH),> _1 BaF,+__2 H).O

. 3 HC+_1 AIOH),>_1 AICL+_3 HO
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